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PAST EXAMIN pnonN QRESTONS : UG 10BWITNES + BRn)s
Given that tan X = %, cos Y= —% and X and Y are in the same quadrant, calculate, without
using tables or calculators, the values of (a) sin (X + ¥), (b) c_os% Y. (N73/P1/6)

- Given that sin lA = i and that 4 is obtuse calculate, without the use of tables or calculators,

the values of sin 4 and cos A. (N73/P2/7i)

Given that tan 24 = Z and that angle 4 is acute, calculate without using tables or calculators,
the values of (a) cos 24, (b) sin 4, (c) tan 34. (sp1/16)

4+B A-B
Provethat;—i‘;—é{%——ms-((r% =tan B.It is g1venthattan(A+B)—— and tan (4 - B) =

where 0° < A + B < 180° and 0° < 4 — B < 90°. Write down, without the use of tables or calcu—
lators, the values of sin (4 + B), cos (A4 + B), sin (4— B) and cos (4 — B). Hence calculate the
value of tan B. (J74/P1/15)

Find the co-ordinates of the turning points on the curve y = sin x + cos x for 0 <x < 2.
(J74/P1/ 16b)

Given that sin-B) _ 3 ¢how that sin 4 cos B=4 cos 4 sin B. If tan B = L calculate, without
sin(4 + B) 5 2

using tables or calculators, the values of tan A and tan 24. (N74/P1/16)

Given that 270° < 4x < 360° and cos 4x = I 5 calculate, without the use of tables or calcula-

tors, the values of cos 2x, cos x and cos 3x. (J75/P2/ 15)

(a) Given that sinx cos y = p and cos x sin y q find, in terms of p and g, the values of the
following;: (i) sin (x +y) sin (x —), (if) 222 o y, (iii) sin 2x sin 2y.

cos4 sind __ sind + cos4
(b) Provethat ;750557 t 1o T mETEEL. (N75/PU/16)

) Given that 90° <y < 360° and that tany 3. calculate, without using tables or“'a. calculatol','

12’
the value of cos y. (J76/P1/2b)

If ¢ = cos 0, express, in terms of c, (1) tan 8 (ii) sin 26, (iii) sin 48, (iv) cos 19 (J76/Pl/ lSa)

If sin 6, tan 6 and sin 20 are in geometric progressmn (O° <0 < 90°) show that cos’ 6 = E'

(J76/P2/13b)

Given that tan 4 = 5 and 0° < A4 < 90°, calculate, w1thout usmg tables or calculators the val-
ues of cos 24 and cos 44. (N76/Pl/5a) : '

leenthatcosx——— and sin y = f_’ that0°<x<360°andthatx andya.remthe same

quadrant, find, in surd form, without using tables or calculators the value of () tan 2x,
(ii) cos (x + ), (iii) cos —x (J77/P1/14) :
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